N = 0l & AF & F Al A

20118 =04 LBHeIH MR ~ HE W

M HR
3 HEXH

el XAl 2el (ctel: &
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0] & 08 e HIREY
X < ot 27,594,717 27,521,144 73,573
ME XA 597,493 1,150,359 Abb2,866
KEtAl 2tel 54,950 64,915 29,965
NgA 20 2 F=X& 54,950 59,415 A4,465
201 B3| 34,850 36,315 A 1,465
01 AtE222lHl 16,750 19,565 A2,815
oLE" 16,750
02 2Z223H| 18,100 16,750 1,350
oz 15,460
OXEAl Jtat AR =EXel A" |SXE U
220,000 128 2,640
202 O4Hl 9,000 9,000 0
01 =LA b 9,000 9,000 0
OXNEMAE = 7,000
O2AANF DHYENH =+ LdHEH 2,000
303 Z&= 11,100 11,100 0
01 Z&3 11,100 11,100 0
OMEEIL oz 2480 A4 1,500
OME XA 2 L&z 1,200
OXNEAMEle 8% o=
1,000,000& x2S 2,000
OFJI2 NYH B+8 S+80 Ty 6,400
— Xt= XHA 300,000& 45 H 23l 2,400
— TH&HA 500,000& 45 H 23l 4,000
N2l 2te| 18,700 19,700 A 1,000
Mel==22te| 18,700 19,700 21,000
201 Letd| 4,700 4,700 0
01 AFR 22l 4,700 4,700 0
Ok 4,700
202 O4Hl 4,000 5,000 21,000
01 =Wl 4,000 5,000 A 1,000
O=WHHbI 4,000
—HYaY HeRX 3,000
—He=g MEM E==X& 1,000
403 XXIEHSA=201H 10,000 10,000 0
02 S| 2SO0l CHSHCH et At S HI 10,000 10,000 0
ON2=+LEFEANAE SKESHI 10,000
T &t2tel 409, 868 814,569 A 404,701
S=JOol THatate| 409, 868 314,569 95,299




M HR
3 HEXH

Chef: THak2te (el &)
_ _ _ Muo
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh

201 LEH2HH| 310,868 268,569 42,299

01 AtS2t2ibl 7,035 7,035 0
Oz« 7,035

02 3323l 303,833 261,534 42,299
oz 222,000
O3Red NLEMHESHz2IHI 81,833

202 O 5,500 5,500 0

01 =AY 5,500 5,500 0
Olat&e|ge =& 5,500

303 Loz 2,500 2,500 0

01 &3 2,500 2,500 0
O2HAINE HEANE 2,500

401 Al&HI LSO 59,000 10,000 49,000

01 Al&H| 59,000 10,000 49,000
OEM =IEF 20,000
OZ A SHEA 22 (22 %) 9,000
Ogigs SXa2HE+ 30,000

405 AHoHFESHI 32,000 28,000 4,000

01 HARESF=H 32,000 28,000 4,000
OZEXE M= 30,000
O=At HISZ(CIXE V) 2,000

HE =0t 2tel 60,005 62,905 A2,900

HE A 2tel 60,005 62,905 22,900

201 LEH2 | 59,005 61,905 A2,900

01 At 2t2lbl 25,700 30,700 A5,000
OsH 7,700
ONE=H BE+=+= 18,000

02 3323l 33,305 31,205 2,100
oz 16,705
OXNEgM FEANAE SAEF =2 16,600

202 O 1,000 1,000 0

01 =AY 1,000 1,000 0
OHEFEIIA SE XA 1,000

S JAH2Y 53,970 188,270 A 134,300

2lH2tel & X3 53,970 188,270 A 134,300

201 LEH2HH| 46,070 47,170 21,100

01 AtR2t2iHl 40,250 40,850 A600
OsH 18,350




SN

X ZH
o=

el

NN,

CHEXNR

e AAH2E

SA-EFH - SA(SAH) - MREAY - BES Off &F OH gl,liafg BlusZ
OZMBMAE A= 2,000, 000& x3H 6,000
OMBAAHZ LI HANBES=+= 12,000
OHAM A= 3,900
—d4dg 150,000 «13& »23| 3,900
02 33224l 5,820 6,320 A500
OsH 5,820
202 O 6,000 6,000 0
01 2UHHYI 6,000 6,000 0
OZelg? =ad 5,000
OZ &AL, A2 SSHR 1,000
203 ¥R =&l 1,500 1,500 0
03 AMH=XHRFAH| 1,500 1,500 0
ONYNE=Z2&HA SEFA 1,500
405 XtobE SHI 400 0 400
01 MR ESF=H 400 0 400
O=SSHHIMBESNALAME CIXESM
= 400,000& = 1CH 400
HH2AZH(HRD) 26,997,224 26,370,785 626,439
Jl=34l 28,440 28,440 0
Jl=&Hl 28,440 28,440 0
201 LEt=2EH| 17,400 17,400 0
01 AtR2teld] 12,944 12,944 0
O8N 12,944
02 3323l 4,456 4,456 0
OosH 4,456
202 Oddl 11,040 11,040 0
01 =LHOYI 11,040 11,040 0
ORAN2E =U0t 11,040
I 2 26,968,784 26,342,345 626,439
eI 2| 26,968,784 26,335,678 633,106
101 Q1] 22,161,017 21,823,007 338,010
01 E= 18,096,891 18,105,829 /8,938
Os=s(28, Az, 89) 10,016,123
—&g23 69,836,000& » 18+ 1L 69,836
—s2(43) 66,082,000& x 18+ 1L 66,082
—4= 3,235,600 x4H 128 155,309
—b55 2,961,300 x19H « 123 675,177
—6g 2,121,500 x99 « 123 2,520,342
—7s 1,766,900& »131H x 12 2,777,567




SN
X XH .
S Tt

el

ro (¢ =
J¥ 0x 40
Mo FHo &2

0R 0R

C

x

_|

OH
i

O O O
Biro0X ot
Yoo

&
i

O
P
3]

=

|

2
J2Jd 0
R e 4

=

I
My
I
0y
=

0
02
o
0x

|
=
=}
&
g

|

10
a1l
o

ra

(u]

bl

4>
.

M0

1,488,800& x12&+71H
1,085,200 123 »39H
3,327,300 128 2
2,022,100 x23H « 123
2,555,600 x2H 128
2,028,500& x 198 123
1,919,200 »22 123
1,505,000& x12& +17H
10,016, 122,000& *0.05
10,016, 122,000 *1/12%1.03

fe=)
erg(2y, NHI, S0

9,796& *67 Al 2+ 12 x25%*20LH
8,312 67 Al 2t 123 «25%*99H
7,457 367 A 2+ 123 +25%* 1312
6,6823 «67 Al 2t 12 +25%+71H
5,993 67 Al 2t 123 «25%*39H
9,603& +67 Al 2++ 128 »25%+2H
7,801 3 67 Al 2tx 123 »25%+23H
8,312 67 Al 2tx 123 »25%+2H
7,457 367 Al 2H+ 128 »25%+19Y
6,682 «67 Al 2t 12 «25%*22F
5,993 3«67 Al 2t 12 «25%* 173
(2d, Axs)|2, 8H) A&

o

665,245,000& *0.05

7,3253 *30A[ x4 +1.018%4LH
7,325 «15A1 2tx22 %1.018%4H

IEEA(SHEE)

7,325 *30A1 2++1.018+20H

|

7,325 +20A| 2t +3E %1.018+56H
4
7,1483 %16 A1 2+ +2E x1.018+ 15

8%

7,3253 x20A12tx 128 +1.018+12H

—SWA(B4, 2T4)
7,325 %301 24+ 128 %1.018%2%

O}NE4g

— B2 X 40,0009 #1228 *304%

— S0t 20,0002 %122 +718%

— RIS 30, 00024 +70% * 122
OXHABHHI 4 &

~58D

il
=

51,400& 42| x44&H

1,268,458
507,874
79,856
558,100
61,335
462,498
506,669
307,020
500,807
859,718
665,245
39,380
165,401
196,351
95,359
46,980
3,861
36,065
3,342
28,479
29,548
20,479

33,263
41,526
3,580
895

4,475

2,238

3,493

21,476

5,369
343,440
145,920
172,320
25,200
123,337
14,676

9,047

2
R
J2H




S W2
Y HE2HZH (MR)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o S Hl R =2
Ol &
- 22X 50,310& 43| x26H 5,233
3=Al 49,5003 43| x2H 396
—1sgn 108,661
- 12X Ot 420,790& 43| x49H 82,475
=P\ 371,290 x4 3] x3H 4,456
2= Xl Ot 371,290& *42] «13H 19,308
- 22X L 302,7203 43| x2H 2,422
O&2=4 Jtit=s 401,760
—25E 01 & 130,000 = 12& «106Y 165,360
—204 014 254 0|8t 110,000 *12& 659 85,800
— 154014 204 0|2t 80,000 »12& x90H 86,400
—10= 014 154 0] 8* 60,0002 »12& «30H 21,600
—5E 014 10402t 50,000& 122 «71H 42,600
OoRgzf+g 36,000
—UE 40,000 x 128 x57H 27,360
—=Z 30,000 123 x24H 8,640
ORHIRA IJtitz 9,600
—= B8 50,0003 128 »7H 4,200
- 24 50,0003 x12& »2H 1,200
—=2 29 50,0003 x 128 »7H 4,200
OURERA=EY 156,129
—4Z3 U 2,961,2603*4.8%*12& x1.018+4Z 6,946
—5Zl<
2,485,400 *4.8%* 128 *1.018+x26H 37,892
—6=U=
2,028,500 4 .8%*12& x1.018+40Y 47,578
—73UHROISHZE)
1,448,800& *4 . 8%+ 128 »1.018+72YH 61,167
—-83U=OIsy s
1,085,200 *4.8%* 122 x1.018x4H 2,546
Ozelg=g 7,115
—4= 3,235,700 x12& *1.018+9/100%2H 7,115
OJlz=gea4 86,040
—b= 50,0003 x 128 x6H 3,600
—b6=2~7= 30,000 * 123 109 39,240
—8=~9= 20,0003 123 x33H 7,920
—NE2& 60,0003 x12& »2H 1,440
— K& At 50,0003 »12& «23H 13,800
—Jtat=a 20,040
- Jl=M 50,0003 x12& x1H 600
- JIA 30,0003 123 x42H 15,120
- JIA2E 20,0003 »18F 12 4,320
Oz 29,532




SH: R
HH: HAH2AAH(HR)
el Qe 2 (98
S FB SR (E) - NRAY - Be S 0 &t Soe RS2
—oI2A 791,000& x12& ~1H 9,492
— =9 A 70,0003 x 122 1L 840
— 2SS A 50,000& x12& »10H 6,000
-2 50,0003 x12& «12& 7,200
— o2 IA 50,0002 *12& «10¥ 6,000
OXsxzd & YR ¢ 6,960
— 15U 40,0003 x12E 14 6,720
— 150/ 20,0003 x 122 1Y 240
ORlg=ssxdsrd 10,000 x12& 22 240
OtaARE 30,0003 123 +43% 15,480
OTuYRLY 1,800
—3480l&f 50,0003 » 12 »3& 1,800
OsH2? =¥ 70,0003 128 120 100,800
O&d=+¢ 43,272
—S4(83) 36,000 x12&«1H 432
—d=E 50,0003 «12& «12¥ 7,200
-2 ¥ A0 HelF
270,000& 128 +11H 35,640
OMal=EXge+E 30,0003 123 «35& 12,600
O=F0tsd=dg 500,000 x12& 10 60,000
OFg2f=¢ 28,994
—2AS A 55,181&*30&*1.018+6Y 10,112
— AR AL 55,181& %402 *1.018+ 1 2,247
—gadEelAt 55,1813 402 +1.018+ 1L 2,247
—32EA42 44,3493 602 *1.018+ 1L 2,709
—EAHAZ 2 (IIAH)
49,4482 1162 *1.018%2Y 11,679
OofZ2 R4 54,791
—BAHAS A (2tSAL)
2,442 3 «BA| 2tx3652 %1.018+6L 43,554
— S22 S A (YA
2,442 1B +BAI 2t%x100&%1.018 1,989
—BAHYZA(LAA)
2,4423 1B «BA|I 2Hx1002+1.018 1,989
—BAHZ 2 (IIAH)
2,4423 ~BA| 2t+3652 %1.018+ 1L 7,259
ORMeP4Y 480
—sgJ|=dH 40,0003 x 128+ 1 480
OZH g4I 130,000 & «472& 123 736,320
Ous&2=xHl 723,240
—4~55 140,000& 12 «25H 42,000
—6~72 130,000& 128 2532 394,680
—8~9%= 120,000& * 122 x110¥ 158,400
== 140,000& »12& «2H 3,360




SH: R
M HY2ITHI(HRY)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
— K= At 130,000& »12& «23H 35,880
—Jls6~73 130,000 128 »21H 32,760
—J1s8~10=2 120,000 =128 39S 56,160
OHE =t
10,016,122, 000& *2/12+60%*1.018 1,019,642
OIHAIXI 2 I 10,016, 122,000& 2/ 12%1.018 1,699,403
O ot2 atHl 10,016, 122,000 x10/360+1.018 283,234
02 JIet& 2= 1,726,463 1,469, 356 257,107
OFE3Z 797,888
—S= 2,002,600 x12&@ 21 504,656
—S5 a2 540,655,000& *0.05 27,033
g2+ 540,655,000& x2/12%1.018 91,732
—d2+g = 23,160
- 254 0|4 130,000 123 ~4H 6,240
205014t 255018 110,000& x 128 +5&H 6,600
- 158014 20012t 80,000 x12& ~6H 5,760
- 1080l 154012 60,0003 x12& «3H 2,160
- 55014f 10=0]2t 50,0003 «12& x4 2,400
—ItE=g 17,760
- B = Xt 40,0002« 128 ~18% 8,640
SAIE 20,0002 123 ~38& 9,120
—XtHsdl ExH 1,727
- S n(1=X) 51,4003 43| x4 823
S8t (22X) 50,3103 *43| «4H 805
DESN(1=X JH) 420,790 45«6 10,099
—AN2e2f=4 113,698
e 6,340 +67 Al 2t 128 20 H 101,948
=t 6,340 x32A| 2t 123 +4H 9,739
Nel2osg oz
111,685,000& 0.018 2,01
— 0222+ 2,2883 %3652 +1.018+8< 6,802
—x&gE 30,000 x12& «2H 720
-ty 50,0003 «1& 128 600
OH et A 662,507
—== 3,000,000& x12& 16 576,000
-3 Y= 576,000,000& *0.05 28,800
—ItEE 8,880
- B Xt 40,0003 «12& 8L 3,840
FIE 20,0003 x12& 21 5,040
—NAeRR Y
7,457 67 Al 2Ex 128 %1/2%1.018% 16 48,827
OFMSAHI(HEZE) 130,000 «12&*21¢ 32,760
(@NME=3-- .| 54,960




A MR
M HY2ITHI(HRY)
el Qe 2 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
— A A (D) 140,000& 128 «2H 3,360
— 2= (2) 130,000 »12& »10H 15,600
— A 2= (0H) 120,000 « 128 »4& 5,760
-z 120,000& 128 »21H 30,240
OZE=OtyI 540,655,000 2/ 12+60%*1.018 55,039
OJHAHXI & I 540,655,000 *2/12%1.018 91,732
O ItE &I 31,577
-3z 540,655,000& *10/360%1.018 15,289
—AHleFA 576,000,000 x10/360+1.018 16,288
03 RIAHAZ =2 NE =+ 2,337,663 2,247,822 89,841
OeZ0lsta Ay 900,225
—Jl2s 1,154, 7403 »12& x22& 304,852
—Jlg=g 1,724, 7403 x50%*4 5| x22H 75,889
—d2=¢ 1,724, 7403 »50%*22| x22H 37,945
— X = et 1,724, 7403 50%+52| x22H 94,861
—ItE=4 17,040
bl <= Xt 40,0002 x 128 ~18% 8,640
LIS 20,0002 x12& «35& 8,400
— Sy 90,0003 x12& x22&H 23,760
—Sg&eds=E 70,0003 x12& «22&H 18,480
—ZHGAH 160,000& 128 »22H 42,240
— A 2 £H] 110,000 128 »22F 29,040
R == | 140,000 =128 »22H 36,960
—dEFIH 1,724, 7403 »60%*22 2,070
—zn224Y 187,349
NEEEES
7,630 *150%*30A| 2t 122 x22H 90,645
sulesy
61,0503 «150%*4 & x 12& x22H 96,704
— Xt 61,0502 x15& x22&H 20,147
—NEEH 2R 6,732
Sstn (22X 89) 50,3103 *43| 1Y 202
DEsW(1SX I 420,7902 *43|x2H 3,367
DESN(1=X L) 419,000 +45]«1Y 1,677
DEEW (22X L) 371,200 +45]1Y 1,486
— Il =4 130,000& »22&H 2,860
OAMREZE & H=R2 795,697
—Jl=s 38,850 #2492 x45F 435,315
—J|Z=g 9,673,650 *4/ 12x45% 145,105
—AN2tel=H
38,850/8+1. 5@ *15AI 2t 123 »45H 59,004
—2s52+g 38,8503 x52 x45&H 90,909
—ME=E 69,7803 x12& 45 37,682




SH: W2
HE: HH2IAZH (W2
chel: o2t oyl
S HE - S(EH) - NRAY - BES 01l &k o S
0f 4 o
—AX =g 38,850 10 »45H 17,483
-2 38,8503 *1.5+252 +7H 10,199
O gels 17,759
—Jl2=s 40,950 249 1 10,197
Y=g 10,196,550 4/ 12+ 1 3,399
—AZ2H2l=g

40,9502 /8*1.5%15A1 2hx 128 «1H 1,383
—Resgdsd 40,950 x52 x 1 2,130
—ME=E 20,000 x 123 1 240
—AX s 40,9503 x 10 x1H 410

OFUAY S2A 18,806
= 42,000 x2492 x1H 10,458
=Y 10,458,000 4/ 12+ 1 3,486
— A2t =5 7,875 %151 2tx 128 1Y 1,418

reEgsE 42,0003 x52€ «1H 2,184
— M= 70,0003 128 +1H 840
— X 42,0003 10 +1H 420

OJdls(A=2)e8 347,620
—Jl2s 49,650 x249 «14H 173,080
—J|Z==E 12,362,850& *4/12+14Y 57,694
—Az2tel+=4

49,6502 /8*1.5%15 A1 2hx 128 *10H 16,757
— ANzt (+HEAMHQ )

49,6509 /8*1.5%48 Al 2bx 128 «2H 10,725
—RE5dsE 49,650 x522 x14H 36, 146
P RS 10,0003 4E x12& «14H 6,720
—AXtsg 49,6502 x 102 14 6,951
— 02 22E 49,6503 «1.5+512 «3H 11,395
— 522 49,6503 *1.5+27 2 «14H 28,152

OJIs ()8 33,291
—Jl2a 69,0003 x249 «1H 17,181
—J|Z==E 17,181,000 x4/ 12+ 1 5,727
—A2tel=¢ 69,0002 /8x1.5%15AI 2+ 123 2,329
—5Y22E 69,0003 »1.5+33€ x1H 3,416
— R 69,0003 x52€ x1H 3,588
—M&E == 30,000& *12& 360
— Xt 69,0002 x 10«1 690

Ox=Z2AM JI=(S)2R 58,931
—Jl=s 55,6503 249! x2H 27,714
=2 13,856,000 4/ 12%2H 9,238
—Al2tla=Y

55,6502 /8%1.5%48A] 2+ 128 »2H 12,021
—SY2RFE 55,6503 * 1.5+ 142 +2H 2,338




SN

M2 1t
M #E2AAL (WS
chel: o2t oyl
SN HB - S2(3H) - MEAY - BAS Abol e
— S35y 55,650& x52 ! 2 H 5,788
RS, 30,000& x 128 »2H 720
— XS 55,600& x10L 2 H 1,112
OJlas(BE)el= 21,734
—Jles 42,0003 2492 x1H 10,458
—J|g== 10,458,000 4/ 12%1H 3,486
— A2t 42,0002 /8%1.5%15A| 2t 12& 1,418
—524222H 42,0003 x1.5%x562 *1H 3,528
ReEsgdsY 42,0003 x522 x1H 2,184
— &G 20,000& x12&x1H 240
— XY 42 ,000& x10 *1H 420
O=0AZ L= 65,000,000& 65,000
OAHLABEHEE = 65,000,000& 65,000
O AREZ 3,600, 000& 3,600
ORI HLE2Z A BAXI 20| 10,000,000 10,000
A2 =&Y 4,200 4,200
EANSIHERFAH| 4,200 4,200
OFANSHIERF=EY| 350,000& x12& 4,200
X 24HAH| 1,150,080 1,116,240
MNMSHIFHHH| 71,160 69,960
o3 39,360
- 650,000& x 128 ~1H 7,800
-2z 400,000& x12& x1H 4,800
—43 A NE 350,000& x12& x2H 8,400
—53 W& 100,000 x12& =114 13,200
—=s0AaYAT 50,000& x12& »7H 4,200
-0y 2A0E 80,000& x12& *1H 960
OAEI| & 13,200
—SBAZAE, sHI=HEHAE
400,000& =128 x2H 9,600
—SAAMISWE, J=gY2
100,000& x12& »3H 3,600
os.H 16,800
5. HE 150,000& x 128 »7H 12,600
-2 S HE 50,000& x12& +x7H 4,200
OMYA(SUMSA LML L)
150,000& x 128 *1H 1,800
ANSEXH| 823,560 793,920
osd, As5J|, 84 823,560
- 500,000& x12& *1H 6,000
-2 450,000& * 128 x1H 5,400
—43 400,000& =128 x6H 28,800




SA WP D
HH: HAH2AAH(HR)
el Qe 2 (98
SA - HE - SR(EH) - NRAY - BES & ol e DS
—55 250,000& 12 21 63,000
—65 155,000& *12& «99H 184,140
—7= 140,000& =128 x129H 216,720
—8~9=2 105,000& «12& 110 138,600
—Jls6s 155,000 *12&+2H 3,720
—Jls’s 140,000 12«19 31,920
—J158~9= 105,000& »12& «39H 49,140
— XIS A 155,000& » 128 23S 42,780
-z 105,000& 128 «21H 26,460
— Al 140,000 128 x16< 26,880
03 EZYREHI 255,360 252,360 3,000
o=l 50,000 128 »337H 202,200
OSZgR-d2 | 53,160
—ZAEE 80,0003 x12& ~4H 3,840
—NSREg 100,000& 128 273 32,400
—OlatEE 140,000& 128 x4 & 6,720
—HRgE 50,000& x 128+ 1L 600
— 2 Al A <t 70,0003 128 4 3,360
—2NgE 70,000 » 128 4L 3,360
—SARIIgE 70,000 *12&~1H 840
—ESEEE 100,000& 12 1 1,200
—SREHMEE 70,0003 «12&«1H 840
04 A=RE=S 3,237,567 3,287,231 A49,664
01 d=RE=2 2,655,477 2,712,436 256,959
OUstfg € 2
11,978,326,000& »18. 199% 2,179,936
O&&=g FE=
11,978,326, 000& *4.630%+*80% 443,678
OMoi24a =2 11,978, 326,000 *0. 266% 31,863
02 =0ALES= 582,090 574,795 7,295
O=uUALEE=
19,229,830, 0003 x5.810%*50% 558,627
O #IRLEH 558,627,000 *4. 2% 23,463
307 2120l & 415,920 105,000 310,920
05 BIZtRAE =S 200,000 0 200,000
OZSR3NH =100 = Fgs 200,000
07 d=kls=2 215,920 105,000 110,920
OAE xRS 90,000
O 22X 15,000
OJIetH &&=
, 326,000 *4.630%*20% 110,920




